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1. 1.9 A YSTI &A% 1 8Idl 82
ITR: 62

2. 2.9 BT A 1A B BT G T 67
JTR: TS x TSI x SHaTs

3. 3.90 BT M 1A B BT G T 87
JTR: mr*h

4. 4. X% 1 YSY &THA 1 8Idl 82
JR: mr(l+1)

5. 5.7Mcl BT 3MTIA JTd B BT G T 572
JTR: (4/3)mr’

6. 6. ST BT YYT A=l T I &2
JTR: 3mr?

7. 7.9 [l X P TH UM ST & HIeT Y A S U el S a1 gd 67
JTR: 3Udd® P (Frustum)

8. 8.3[Uddd X BT T JTd B BT I3 T2
3R (1/3)mh(R? + r? + Rr)
9. 9.7Ic BT YSTT &0l R BIdl &7

3T 4mr?



10. 10. I fHT S B Bam 7 I 3R SHaTs 10 IHI , O BT A fbd-1 gRm?

JR: 1540 T A



